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The test is closed book, with one sheet of notes and standard calculators (no communications) allowed. Show all work. Be

sure to state all assumptions made and check them when possible. The number of points per problem are indicated in
parentheses. Total of 50 points in 3 problems on 3 pages.

1. In the circuit at right, vi,(t) = 20 cos(5%10° +30° ) V, L =20 pH,R=75Q,
and C=2nF. F.

(a) Determine the phasor domain values (with units) for each of the four circuit
elements. (7)
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(b) Determine vou,(t). (10)
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2. In the circuit to the right, the current source is I, = / B
2/60° A and Ry is 40 Q. Calculate current in Rq (I, Q -L 20 a
measured clockwise) as a phasor (magnitude and 10 ] f I
phase). Note that V,, is voltage across Ro. (15) ¢ j ,
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3. For the circuit to the right, I, =20 /0° mA(peak). The - - = B
capacitor has impedance —j50 Q and the mductor has J
impedance j350 Q. - f "
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a) What is the complex power absorbed by the load (RL - ‘-\)
series? (10) 'g :
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b) What value of pure reactance added to the circuit in =
series with the load (RL series combination) would
maximize power transfer to the load? (8)
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End of Exam
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